2017 (A) " Ay
SSC PART-l (9th CLASS)

COMPUTER SCIENCE (NEW SCHEME)  ( 2015-2017 /%) (F ) St
GROUP-| by -/
TIME ALLOWED: 1.45 Hours SUBJECTIVE _i&l» Zas = =
MAXIMUM MARKS: 40 40 = Af

NOTE: - Write same question number -a:.(y}:gﬂ;_{.glr.fié aJJ/f;.].JJ’/".;d'}’Lﬁ){QKQL’. B
and its part number on answer book, as given in the question paper.
SECTION-l Js»

2. Attempt any four parts. 8=2x4 e lizupe 8 240w
(il Which technalogy was usad in fourth aeneration of Computer? s NI B2 o i.ﬂ:\fm‘ (i)
(il Define Hybrid Compuser. NS (h
(i) What is meant oy Programming Language? S ;','gfr—f; -'QJ;’/:; {in)
(iv)  What is meant by Register? el ()
() Whalis the function of Contral Urit? el
(Vi)  Whal is meant by Computer Storage? 5'4--'/&":-3'45’/':{ (vi)
3. Attempt any four parts. 8=2x4 Ly f@}lﬁ[_l:’byc_éf 34
(il Write names of any two Painting Devices. -J"" TS P )
(i) What is meant by Video Cantroiler? feslrle APt ()
(i)  Evaluate 111000 + 1000115 111000, + 100011y -y Af (i)
(iv)  Define Octal Number System, -u:‘"‘r—é’/‘-'kf()d AA W)
v) If x=0, y=1 lhenﬁndlhevelueofx+; -;r’,’*}”.-.{'J x+-y- M x=0, y=1 /" (v)
(vi)  Define Max tarm. AL W
4. Attempt any four parts. 8=2x4 -é;fuylib?uyc_éf Ay
()  Define High |evel Formatting SRS A= R (i)
(i} What is meant by MSB? fel /= MSB {ii)
(i)  Define System Softwars. -‘,{.f..y}\,('f.:;)v/’ (iif)
(iv) Wnhat is Graphical User Interface? ?@U;G; a‘-'bi!J”—’if (i)
{v) State the purpose of "My Document” Folder. 4 _'/ugﬁb’/ﬂ? "My Document” (v}
(viy  Define Search Utility E e, Wi

SECTION-II pa2

NOTE: - Attempt any two questions. -;{gfogméammgéf -

5 Explain any two classifications of Computer 8 L ."'.-)‘.é’.;"uz ~ ;.':::JJJ/U’};;—:, 5

6. Explain Dot Matrix and Line Printer, 8 -,;/bu:u}i;u'u M LHL -6

7. Conver: Decimal numbers into Binary numbers, 4+4 -5,‘{ J_‘iu:i,?d/;ﬁﬁd‘-"i B¢ ¢
(274=(7)a (i) (128445 = (7 )3

37-2017(A117000 (MULTAN)



L T
”

PAPER CODE ey

2017 (A)
SSC PART-l (9th CLASS)

NUMBER: 1837
COMPUTER SCIENCE (NEW SCHEME)

(F2) Snd

( 20152017 &)

GROUP-| ke - o
TIME ALLOWED: 15 Minutes OBJECTIVE (%o w15 = =
MAXIMUM MARKS: 10 10= A

S o b S HIA Ltz B sl i g0 <ol D 1 C B A AR L g —2F
Ut Fe ol AN L SE J2; Bubbles -M!ﬁu&gj:«u‘tﬁ.& Jok y LS ifnimlseti <&
LS ey

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

Nots: You have four choices for each objective type question as A, B, C and D.

to fill the circles. Cutting or filling two or more circles will result in zero mark In that question. Attempt as
many questions as given in objective type question paper and leave others blank. No crodit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A A

(1) is an Input device. pedlaget (1)
(A) Monitor /%v (B) Printer % (C) Mouse sl (D) Speaker &

(2) The type of ROM is:- <+ @

(A) SRAM (&, (B) PROM (s34 (C) DRAM 23 (D) RAM %

(3) (011)4752105 is:- (A) Numeric data Qs.f/i e 011)4752105 (3)

(B) Alphanumeric data & 5fz7 (C) Alphabetic data &5 Guy (D) Text data Liet

(4) A+ Ois equal to:- -2t A+0O (4)

(A) O (8) | (C) AD (D) A
(5) provides command line interface to the user. -(—Vf W}"o’” Uiy (5
(A) Windows Jss (B) Folder .4# (C) Drive £} (D) DOS 1}

{6) Good Time was a:- _: Ll Good Time (6)

(A) Virus @U7s (B) Antivirus Gty

(C) Fake news about existence of virus Jj&ﬂ’uﬁx_zgﬁgﬁzﬂﬂr}b (D) Operating System [P -Eé{f

(7) ICONis a:- ot ___ g m
(A) Graphic Image &'.5”  (B)Word File Ji%s (C) Sound File Ji25L- (D) Virus s

(8) ___is not High Level Language. e SRS @
(A) Fortran o/i4) (B) BASIC (C) € and C++ (D) Assembly Language &K1

(9) The Third Generation Computers use:=  (A) Vacuum Tubes LZ<(xs LS REASA 9

(B) Integrated Circuits S w 3 Sutil
(10) is used to camy data.

(A) Data Bus ki

37(Obj)( T W I)-2017(A)-17000

(C) Transistors j~7!/ (D) Microprocessars J/S{:f’t
-G

(B) Address Bus (#~/4!  (C) Control Bus S (D) System Bus
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SSC PART-l (9th CLASS)

COMPUTER SCIENCE (NEW SCHEME)  ( 2015-2017 &%) (F %) Sk
GROUP-I en < gnf
TIME ALLOWED: 1.45 Hours SUBJECTIVE _J¢iLe #1145 = =
MAXIMUM MARKS: 40 40 = AF

NOTE: - Write same question number _96/:‘154_4.219'.&9‘,{ z'//)/,J.)ZJ"/J(J'}’(ﬁ){Q{d‘?- -y

and its part number on answer book, as given in the question paper.

SECTION-l Jio

2. Attempt any four parts. 8=2x4 -Eferliznge 8 240w
i} How does Abacus Work? i ;_c,,,,u pa 0
(i) Differentiatz between Analog and Digital Computers &=y -c.)u-ur:e‘ g S (n
{iii,  Which technology was used in firs! generaticn of Compusar? AP AR Iy B PN ATS (0]
{v)  Whatis meanl by Electronic Data Pracessing? ‘-‘7—:'/2’2--53:':.;12%-57??' {iv)
(v)  Define Comguter Harcware, 3 :.':@,;szg).ﬁ( (v)
{vil  Whatis the use of input Unit? e JSPRayoun (Vi)
3. Attempt any four parts. 8=2x4 -é",:{;..:,l.lﬁﬁlzm;g(jf 340
i) Whatis meant by Non-Impact Printer? P sl Foa ket (i
(i) Whatis meant by Pixel? 5‘;:[/'!-";.)’; (il
(i)~ Convert (27), into Binay number -q/;,ﬁ,;-'vd,r_"j,?—'l_,/ 27)40 (iif)
fiv)  Find 1's complement of (10110101), A .fu (10110101)  (iv)
v Write two advantages of Karnaugh Map. -u;‘/}/:-’l}m: e (v)
vii  Whatis the Dual of Expression x., x + 37 VU xox+x (V)
4. Attempt any four parts. 8=2x4 -s{{/’akwélz‘zkc-éf Y
(i  Define Byte. LA 951 (i)
(i} ~ Whatls meant by Low-Lavel Formatting? %‘la.:t/y;—_ﬁfzﬁgfa_-n.g (if)
(i) Write down the nemes of types of Operating System LSBT i)
(iv)  Define Disk Operating System(DOS) ZA8 ()
{v)  Describe the purpose of Recycle Bin. .gé';,ﬂﬁ‘e"psg?vu, (v)
(vi)  What is meant by Task Bar? el ale (V)

SECTION-lI p5.e

NOTE: - Attempt any two guestions. -g{_f/’awﬁamm;c.éf iy
5 Define Computer, Also describe the types of Computer. & LA B S fdmd -5
8. What is meant by ROM? Explain its types 8 L Sl B

7. Explain AND and OR Operation with the heip of Truth Table 8 -/ ki Faiousestndc®l ORWAND .7

39-2017(A)-14000 (MULTAN)



PAPER CODE 2017 (A) ey
iR a5 SSC PART- (9th CLASS)

COMPUTER SCIENCE (NEW SCHEME)  ( 2015-2017 o) (£ ) Slmd
GROUP-I T
TIME ALLOWED: 15 Minutes OBJECTIVE 0‘5/‘:.-0 215 =
MAXIMUM MARKS: 10 10= A

e ﬁxﬁ;v,.waw’..,m.w‘,u:w;ueii,,z.vwm{mm ~BLEsD 4 CBA ALy S
U Ko A R mSe Lo} Bubbles Bl iz LenSi i Sk VLS tnia ok 255
Note: You have four choices for each objective type question as A, B, C and D. -q}.’;d’)}.-.mq«,gvr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result In zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) Types of Language Translator are:- oA E
(A 1 (8) 2 (€ 3 (D) 4

(2) Digital Data is stored in-- e teVE LSS (2
(A) Foiders (2507 (B) Directories 2y 475 (C)Files £ (D) Paths 24,

(3) Normally, floppy drive is designated as:- -.;.rt._vgf.r;}&’uﬂéw.;lﬁ‘b (3)
(A) AN (B) F:\ (C) EA (D) CA

(4) Inthe Third Generation Computers were used:- R g (4)

(A) Integrated circults S it SUG1 (B) Transistors J %1  (C) Vacuum tube uf.c'rg;':’: (D) Processars j iy

(5) Instructions are written in Machine Language as:- -ugéqe._,‘{;y,‘u:f; ,@g:"" (5)
(A) English code #/§.5 (B) Binary code #UA (C)Linkcode % (D) Ne Monics 5%

(8) ____types of Buses are in Computer. -u)_frb"'u(/'otf'r! (6)
(A) 2 (B) 3 (C) 4 D) 5

(7) _____is aPointing Device. -4.J"z!-f'f"¢-{' it )
(A) Light pen gt (B) Keyboard 54  (C) Typewriter fust (D) Caiculator )&

(8) One Kilobyte is equal to:- e KL (8)
(&) 7, 102 bytes (8) ot 210 bytes (€) o~ 10% bytes (D) L 410 bytes

(9) The base of Binary number is:- - WA A (9)
(A) 2 {(B) 10 (C) 8 (D) 16

(10) In Boolean Algebra A AA A is equal to:- it AAAA ..,ﬁ'}.fwf.-_' (10)
(A) 4A (B) 3A ) a D) A

39(Obj)( W)-2017(A)-14000  (MULTAN)
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